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i i1y reference to the culyy,,.
i ; . ral hj
ir 1. :Znsidef the following Pairg . istory op Indig with  reference to India’s  biodiversity,
ivrajaka " 4 . ' ; :
e o Rvnum-i..m Ceylon frogmouth, FERpSRY et
Shramana andorey i umv-rhlzned minivet and  White-throated
-5 B I"‘.l‘i:\" With 4 r('dlltm’t are
Bh stay
g, Upasaka SR - (a) Birds
B v r"""w“r of
) uddhig, by Primates
Which of?t.he pairs given above 2 n ( .
matched - Correcy]y (¢) Reptiles
@ 1and 2only (d) Amphibians
» 1 and 3 only
© 2 and 3 only
@ L 2 and 3
5. Which one of the following protected areas is
th reference to Indian i
: g’; B e statement, elephants. consider well-known for the ctfnservatnon of a
. The leader of an elephant . sub-species of the . Indian swamp deer
female. Broup is 5 (wwhat thrives well on hard ground
The maximum : { i ively graminivorous ?
‘? bl gestation period can be and is exclusively gr .
Kanha National Par!
3. An elephant can normgq)y €0 o0 calvi Yl a Na
till the atie of 40 years only. ng (b) Manas National Park .
Among the States in Ing; : 1A
J elephant population js il:ldigér:}]l: highest (¢) Mudumalai Wildlife Sanctuary
Which ;f the statements given above is/are (d) Tal Chhapar Wildlife Sanctuary
(a 1land2only
2 and 4 only :
() 3only 6.  Steel slag can be the material for which of the
@ 1,3and 4 only following ?
3  Whid 9{ e blloving Protactod b 1.  Construction of base road
located in Cauvery basin ? 72 Improvement of agricultural soil
1. Nagarhole National Park
B ik onda National Park 3. Production of cement
\3¢ Sathyamangalam Tiger Reserve—t Select the correct answer using the code given
4 Wayanad Wildlife Sanctuary—_, below :
Select i i
:the correct answer using the code given ¥a) 1and 2 only
(@) 1and 2only /b) 2and 3 only
: (b) 3 and 4 only
: B 5 e ¢ oy #7 tanasonly
@ 1,2,3and4 A£@ 1,2and3
(3-D)
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7. Which of the following are the most likely
places to find the musk deer in its natural
habitat ?

1. Askot Wildlife Sanctuary

2 Gangotri National Park

3. Kishanpur Wildlife Sanctuary
4 Manas National Park

Select the correct answer using the code given

below :

(a) 1land2only
(b) 2and 3 only
(¢) 3and4only"
(d 1and4only

8. In rural road construction, the use of which of
the following is preferred for ensuring
environmental sustainability or to reduce
carbon footprint ?

1. Copper slag

2. Cold mix asphalt technology
3. Geotextiles

4.  Hot mix asphalt technology
5.  Portland cement

Select the correct answer using the code given

below :
(a) 1,2and 3 only
(b) 2,3 and4only
(¢) 4 and5only
(d) 1and5 only
HGY-P-JHKI (5-

10.

D)

Consider the following statements :
‘on

% Conl a

mercury:
red power plants release sulphur

“Conl-fi ‘
,)/ dioxide and oxides of nitrogen into the

environment.

ah contains arsenic, lead and

sigh ashy eontent 18 cbeerved in Indian
#

coal.
Which of the gtatements given above is/are

correct ?
'f\(a) 1 only

ﬁ/ 2 and 3 only

(¢c) 8only

(d 1,2and3

What is the use of biochar in farming ?

15 ochar be used as a part of the
growing medium in vertical farming.

9.  When biochar is a part of the growing
medium, it promotes the growth of
nitrogen-fixing microorganisms.

3. When biochar is a part of the growing
medium, it enables the growing medium
to retain water for longer time.

Which of the statements given above is/are
correct ?

(a) 1and 2 only
(b)  2only

(¢) 1and 3 only
(d 1,2and3
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nce to pulse production in India,
" gtatements :
be cultivated as both 1

. X 5 : : with refere ;
24. According to India’s National Policy on | 26. consider the followin

T‘TI Biofuels, which of the following can be used as am can
‘T"}\ raw materials for the production of| @ 'p f}l,:crli(f gfld rpbi crop-
1. Cassava Green-gram alone accounts for nearly
2. half of pulse production.

[n the last three decades, while_the
Groundnut seeds p,-oduct.ion of khﬂflf pulmg'g has
P reased, the production of rabi pulses

Damaged wheat grains

Pz

3.
?
4.  Horse grapr has chIOll!"d'
5 Rotten potatoes Which of the gtatements given above is/are
i jg correct 7
6.  Sugar beet (a) 1only
Select the correct answer using the code given (b) 2 and 3 only
i %’{ below : (¢) 2only
\ d3
! hﬂ;: (@ 1,2, 5and6only (@) L 5
is subtro ical in nature. A_hard
%Ia‘y (® 1,3, 4and 6 only gl Q’W at least
) st-free days and 50 to 100 centimeters
iéﬁ A 23,4 and 5 only : =1l for its growth. A light well-drained
il able of retaining moisture _is_ideally
L @ 1,284,5and6 §f,'iwff'§o, the cultivation of the crop.” Which
one of the following is that crop ?
\@ Cotton
25. Which one of the following statements best @) Jute
describes the term ‘Social Cost of Carbon’ ? (c) Sugarcane
(d) Tea

It is a measure, in monetary value, of the
nce to solar water pumps, consider

= . long-term damage done by_a tonne of | 28. With refere
i the following statements :

CO, emissions in a given year.
iﬂﬁ% ! 1. Solar power can be used for running
requirement of fossil fuels for a country surface pumps and not for submersible

pumps.

}Q to provide goods and _serv'ices to its
Solar power can be used for running

TR citizens, based on the burning of those 2.
& ] : centrifugal pumps and not the ones with
h ! fuels. piston.
efforts put in by a climate refugee to Which of the statements given above is/are
adapt to live in a new place. correct ?
= (a) 1lonly
(d) contribution of an individual person to () 2only
% the carbon footprint on the planet () Both1land?2 &
Earth, 4 (d) Neither 1 nor 2
HGY-P-JHKI (13-D)
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(b)

(c)

)

Part IV of the Constitutiop of India, which of

members

the folloWing statementg is/are correct ?

g,

2.

They shall be enforceah]e by courts.

They shall not be enforceable by any
court,

The Principles laid down in this part are

to influence the making of laws by the
State.

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

‘(c) 1 and 3 only

%2and3only

HGY-P-JHKI
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7.  Consider the following statement .

According to the Constitutign, of India,
person who is eligible to g, can be
made a minister in a Sgg, for gix
months even if he/she is noy , member
of the Legislature of that Staq,

According to the Representay,, of
People Act, 1951, a person convicted of ,
criminal  offence and  senteneey to
imprisonment  for  five
permanently disqualifieq from
contesting an_election_even after ;.
release from prison.

years g

Which of the statements given aboye is/are
correct ?

rg/ 1 only

(b)

(c)

(d)

1

1

3

S

2 only
Both 1 and 2
Neither 1 nor 2

Consider the following statements -

The President of India can summon a
session of the Parliament at such place
as he/she thinks fit.

The Constitution of India provides for
three sessions of the Parliament in a

year, but it is not mandatory to conduct
all three sessions.

There is no minimum number of days
that the Parliament is required to meet
in a year.

Which of the statements given above is/are

correct ?
1 only
(b) 2 only
() 1and 3 only
(d) 2and 3 only

(35-D)
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86. In India, the termy “Public

. Key 1
is used in the conteyy of Y Infrastrucyyper

(a) Digital security i“fl‘malru(‘lu
ructure

(b)  Food security infrastryey,,
re

Wealth care gapg education

infrastructure

) Telecommunication and
ra

ns i
infrastructure e

ich of th i
g7. Whic .o e following Statements are correct
regarding the general difference between
plant and animal cells ?

1. Plant cells have cellulose cell walls

whilst animal cells do not,

2. Plant cells do npot have plasma

membrane unlike animal cells which do.

3.  Mature plant cell has one large vacuole
whilst animal cell has many small

vacuoles.

Select the correct answer using the code given
below :

(a) 1and 2only

2 and 3 only
@land3only

(d 1,2and3

HGY-P-JHKI
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Which of the following are the reasons/factors
for exposure to henzene pollution 7

1. Automobile exhaust

2. Tobacco smoke

3. Wood burning

4. Using varnished wooden furniture

5.  Using products made of polyurethane
Select the correct answer using the code given
below :

(a) 1,2and 3 only

(b) 2and 4 only

(¢) 1,3 and4only

(d 1,2,3,4andb

If another global fi ial crisis_happens in
the near future, which of the following

actions/policies are most likely to give some
immunity to India.?
1. Not depending on short-term foreign
borrowings
2. Opening up to more foreign banks
W Maintaining full capital account
) convertibility

Select the correct answer using the code given
below :

(a) 1only

(b) 1and 2 only
(¢c) 3only

(d 1,2and3

If you withdraw ¥ 1,00,000 in cash from your
Demand Deposit Account at your bank, the
immediate effect on aggregate money supply
in the economy will be

(a) toreduce it by T 1,00,000

(b)  toincrease it by T 1,00,000

(¢)  toincrease it by more than ¥ 1,00,000
(d) toleave it unchanged
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